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No. 48 ZF 50m Bk = BALL—R R

 BEfxE >

BfL. K 4 i B 2E KE =
1 APA SEFE JSs@av+ 12 8/ 4 31.77 9%
2 ik WA HLFH KL =3 8/ 5 32. 31 Sk
3 AR il A4 b4k H1 8/ 6 32.84 9%k
4 BH FF J S Sk 1 8/ 2 33.05 9%k
5 K FEH HETHESS /6 8/ 3 33. 32 9%
6 mL XX WIS C M3 8/ 7 33. 54 T
T — R JSSH¥ ! 7/ 5 34.59 10/%%
8 JLEE ZRH b bz I e 7/ 4 35.23 SHk
9 ¥R HEAE KK El 7/ 6 35. 32 5%
10 PKH P 7Y TH NG 8/ 1 35.39 Tk
11 Ry fEE A h~2%E /N6 8/ 8 35.55 8#k
12 = 2R SCHx NG 7/ 3 36. 32 Tk
13 HHAE Y HE J SSHA¥+ /INB 6/ 4 36. 62 9k
14 NfE 5 SCHxz NG 7/ 1 36.98 65%
15 fak AER HRNy7SC /)b 7/ 7 38. 01 Sk
16 JEHFEHR HKhkyFSC /M 6/ 3 38. 34 Tk
16 FHRy B JSSH¥ /N4 6/ 5 38.34 TH%
18 Wi Hh4K LS C /INB 6/ 2 38. 77 6%
19 FEHAEITY A4 h~4E /N6 7/ 2 38. 86 65%
20 ik % 4 OKVK)T7T T2 7/ 8 39. 51 3k
21 (FiE BT e 24 /NG 6/ 7 40. 10 5%
22 BIpT  #PAK WL S C /N6 6/ 1 40. 12 5%
23 A2 7T A | NG 5/ 8 40. 29 5k
24 A HIF HTHESS /)5 5/ 1 40. 56 6%
25 #JIl A b4 /5 5/5 41.13 4#%
26 fih)I] & MBSH/A =7 /N4 5/ 4 41.38 %
27 HH  AhAy A4 h~2%E /N 6/ 6 41.52 5k
28 B HIF] HKy7SC /M 4/ 4 41.56 Tk
29 TR H A 73 F HKy7SC /M 5/ 6 41.57 5%
30 ik =Y ZFE /) SS N6 4/ 1 41. 65 25
31 K HhZE b -2 /N6 4/ 5 41. 67 45%
32 b A HKy7SC /)b 6/ 8 42.54 3k
33 HiZ #] J S SR /N3 4/ 6 42.59 9k
34 g FEfE JsSs@av+ NG 5/ 2 42. 60 3%
35 Fily  mEpd HRyFSC /b 5/ 7 42.88 3%
36 A=A VA= SN /N3 3/ 8 43. 45 9%,
37 Gig 4 SCHhx N6 4/ 3 43. 62 2
38 KEF/LD A A "N~ 4BE /NG 4/ 2 44. 40 3%
39 hk AR FELS S N4 4/ T 44.59 5%
40 SLH 1= LS C /NG 3/ 3 45. 09 3k
41 KH =ER a%/SS /N6 2/ 4 45. 43 Ltk
42 [I'FHAER a% /S S ! 3/ 4 45. 55 5%
43 Wit EFH J S SHPk /N4 4/ 8 46. 01 5%
44 FHRE L A F=&E /M 3/ 6 47. 30 4t
45 s AEAL J SSHATF /N2 3/ 5 48. 00 6%
46 ek FHOF 2% /SS /NG 3/ 1 49. 64
47 ffE B KA S C /N4 3/ 7 49.98 2%
48 & GRS HRy7SC /2 3/ 2 50. 57 5%
49 A D KfdS C /N 2/ 3 51. 66
50 MEEH R IS C N5 2/ 2 52. 35
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B K 4 i B 2E KK =
51 JNEkAA A & SCHx /N3 2/ 5 55. 00 2%k
52 ZEIR:  Fikk SCHzx ! 2/ 6 56. 91
53 fa.H SCHz /NG 1/ 5 57.26
54 I fE HBTHESS /N3 1/ 4 1:00.90 *T&
55 )1l B FES S /N2 1/ 3 1:05. 87
56 WL K A S S /N2 1/ 6 1:06. 30
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